F1AEEE

B E H B S14KEE
E3 Fr : RKIRZTH10—21#A
B F B B FR27£10A8H(KIEH) 9105 ~ 9F15%
p:| EF . REBER
X s Bh
(F1EEE1E)
4,150 16,000 B 4,150
2 AF—Y gz
| (66D (64.0rmD (16.6rm)
4,500 - )
= “T<zz.5rrf)
i
o B 3nh
= Y%
B/ arand |
=| BIERE
= (22.5m)
BN
= mmmoé?ns-?'(ﬁzgwwru. 7827t =

BTER
=| (22.5mD

=P T, MBS et EFTh TLV

LFER
=| (225m) 2300
2000 22,300
— g
= (22.5nd)

KBA—L

* T2
4,150 16,000 4,150
BIERER
B 5 #h /5 (R4 —R)L b8\ —=F 7 —)
#h_E5cm #h_E50cm #h E1m
(A) BRETIBFHERIGAT 0.07 0.08 0.08

(A)



